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The purposes of this study were to examine the determinants and patterns of saving of
police commission officers in Chiang Mai Municipality. The number of sample size was 130 police
commission ofticers, as 84.4% of population, which was collected from district police stations, i.e.
Muang Chiang Mai, Chang Puck, Phu Ping, Mac Ping and local police. This study employed
descriptive statistics and Chi-square test ()(2 - test) for analysis.

This study found that most of police commission officers in Chiang Mai Municipality
were male, age rang around 41-50 years old, working cxperience more than 15 years, had
subordinates 7-15. Most of them were married and had 2 child, most of their spouses were
government or enterprise officers.

Most of police commission officers in Chiang Mai Municipality had income 10,001-
15,000 bath per month, their spouses had income lower 10,000 bath per month while their monthly
expenses were 10,001-15,000 bath per month. Most of police commission officers in Chiang Mai

Municipality were having party 1-2 times per month, no smoking but had drink once a week.

More than half’ of police commission officers in Chiang Mai Municipality had saving
1,001-3,000 bath per month between 1-5 years by saving in commercial banks, government banks,
cooperative savings, finzncial institutions and government bond. Their own and dependence’s
educations were the main reasons for saving. Income was an important factor for saving. In
addition, the reasons polize commission officers in Chiang Mai Municipality haven’t saving were
debt and expenditure.

This study also indicated that age, number of child, number of subordinates and expends
had significant relationship with saving at 10% level (0 = 0.10), income of police commission‘

officers had significant relationship with saving at 5% level ((U = 0.05) and income of their spouses

had significant relationship with saving at 1% level (0L = 0.01).



